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      Section 4.4 Solutions

    
      
     Spring  2014
4. Let X be the number of days until first red light, then 
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6. Let X1 be the number of green lights, X2 be the number of yellow lights, and X3 be the number of red lights, then 
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12. Answers

a. Let X = the number of defective items in the sample. Then 
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b. First, note that 20 is only 4% of 500, so we may consider the trials to be approximately independent and use a binomial approximation to the true hypergeometric probability, i.e., 
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14. Let X1 be the number who order the graphics card, X2 be the number who order the memory, X3 be the number who order both, and X4 be the number who order neither. Then 
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